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0 OO (Introduction)

0000,200,30000000 (0000000000000)0,0000000,00, 2
0oo00000000oOooOn.

000000000, 00000000,00,00,0000 (0O0OO0OOOOO),

00o000000000000,000,0000000,0000 (00000O0,0000)

0oo00,0000,200,30000 »00000000,000 000000000000
00000.000,0000000000000.

ooooooo,O0o,0000,0000,0000,000,00000,
000,0000000000000 VOOO,0000000000.0000%eV,000
0V 00000 «000000,03%/eV;00 0000 VOO « 000000000000
oooo.

00 0.1 K=R,C(ODOODODOO K =Q).
00 VOKOOOOOO,0000 00 Koooooo & oooooooooo,oo
00000000000000,00,%,beV,"acK,a+beV,aacV;
(COO0D0D0)0 Ya,b,ceV,(a+b)+c=a+ (b+c).
(CO0O000)0 Ya,beV,a+b=>b+a.
(0oooo0)020eV;YacV,a+0=0+a=a.
(DO0D0D00)0VYaeeV,?a’eVi;a+a =a' +a=0.00 o' =-a000.
(1000D0D0000)0YeeV,1-a=a.
(00D0D00000)0 YaeV,%, B €K, a(Ba) = (af)a.
(000)0 Ya,beV,"q,B8€ K, ala+b) =aa+av, (a+ B)a = aa+ Ba.
0000,vO0000000 (vector), KOODOOOOO (scalar) DOO.

gbo,00o0ob0,00booooboobooooboboobo,0oo00oboooooaon.

1 0000000 (Numerical vector spaces)

1.1 0O0,00,00

000000000000 (set) 00,0000 10 100,00,0 (element)000. O

00000000000000 (subset) 000. 000 ADDDOO €5 g€ A

0ACX: ADDD X0D0000 &5 YacdaeX > [acAd=acX]

ooooooOooOoOOoOO,X>AO0O0OO0,X 0 AQOODOO.

[0000]
e N={1,2,...}: 00O (natural numbers).
o Z={0,£1,42,...} = (£N)U {0}: OO (integers) (O: Ganz Zahlen O Z).

e Q={m/n;m e Z,neN}: 000 (rational numbers) JOUD0 or DOODO0ODO (OO
O00oUooooooooooon).



e J000D0ODDOD, 0 v2,4v/300000,000,000000000000000
0000 (irrational numbers) 000 . 00000000000 0000 Q©=R\QO
00000oO0O0. (000000000000 O0U,0000000OO0OUoOOooOOg.Y)

e R: 0I0D0ODODIODODUUOOODO (real numbers) JODO.
e C=R+iR={z=2+iy;z,y € R}: 000 (complex numbers). (i =+/-10000
O;i%=—1).

0000000000000000 00 (fields)D 00O0,0000 Q U000 R, 0000
copooooo.

gobo,0b00bgo,bo0oboobooboboo,bobboobobobboobon.

e 00 (mapping) f: X Y 00,0000 X0OO 1000000,0000 YOOO
100000000000000.0000,X 0000 (domain), Y 000 (range) O
oo.

[0] YOOO 2000000,00000000000000000000.00 f(X)CY
ooo.

e 00 (function) 0O00OUOOUODOOOOOOO,ie, 000 COOOOOODOOOO;Y CC.

e 00 f: X =YD

00 (injection) or 1 O 1 (1-1, one to one)
def

0 = [f@)=fy) = 2=y —= [z#y= fl2)# [

00 (surjection) or 00O OO (onto)

0 €L Ve f(X) ie,Y =f(X) « "yeY,%ze X;y=f(z).
O00000000000,000 (bijection, 1-1 onto) 000, 0000,0000000
000,000000 (inverse mapping) 000, f~':Y - X D00 (0000000

oooo).

000 AcX 000,00 f:X—-Y0 AOODQOOOO fla:A—=Y OOO, fO
AODODOOOOOOO.

1.2 nO0000000O0O,0000,00000000

[nO000000000]
neN, ar,a9,...,a, e RODODO,

a="a,az,...,a,) = ) eR™

Gnp

000 %) 000000,000000000000000,000000000.
gb,00000000000000,b000000000,00000000,00000A0O
oooooo.



0011 RPO(RO0)» 000000000 (real vector space) <% 00000000

0000000000000. a="%a1,as,...,an),b="1(b1,bs,...,by) €ER", ce RODO,
a+b="a; +by,a3+bs,...,a, +b,), ca="cay,cas,...,ca,).

000,00 c00000O00O0O (scalar) D00, 000000000000000.
0000,0 e R"0O000, ROO)nOO0OO0DOO (real vector) JODO. OO,

0000000000000, 000 = 40,0,...,0) 000000, e = (1,0,...,0),es =

t0,1,0,...,0),...,en =%0,...,1,000 nO000000D0000OOO.

00000 a,b,e00000 2,y000,0000000000.
(a+b)+c = a+(b+c),0a+b = b+a,0 (zy)a = z(ya),0 x(a+b) = za+zb, (x+y)a = za+ya.

goooogoo,0oo00,00b0b000b0o0o,b00 200000000, 0000, RO
0000000000000 ROODOOOUOOOOOOOOO (DOoOon).
00 11 000000, RO0nOO0O0DOOO0OOOOCODOO,0000000 R*OODOOOOOO,O
gooocoooooooo,booooooooooooLo,ooo0oobo0ooboboooboooooooo
goboooo.oooooboocooobooooooOooOo,0uobooooobooocoobObo0oOobObO0oobooOooon
gooooo,oboooooooobooo,0obo,boobooooobooobbooobooobboooDbobooOoo.
00,000000 ¢0 ceQOO000,QU0n000000000 R"ODDOOOOODO,000nO
o0o00ooo00d or 0000000 R"OODOOCOOOOO,ROO0nO0O0O0O0OOOO R*"OOO.
0o0o0o0o0,000000000000, 0000 \0000000,000000 (x) 0000,
gooooooooobooooooooooooobooobobo.oocoooboboooobooooooooon
gobooooooooo,bcooboobooooog.

[Dooooj]
000000000,000000000000000.

00 1.1 200000000 @,beR?000000 < @,b00000.0000000.

ggb,obgoooobog,bg,boabuagbooboobgooban.

0o 1.2 m0O00000O ay,as,...,a, 00000 (linear combination) 00O, 00OO
m
1,02, 6 D00, Y cia; =c1a1 + a2+ +cpa, 000, 00 a1,a,...,a, 0000
=1
O (linear independent) <% 0 cia;=0= ¢;=0(i=1,2,...,m)000000000
1=1
000000000 (linear dependent) OO D OO.

011 0000000000000, 00,0000 a1,a,...,a, 00000 &% 2

000,1000000 e0e=0000000,a#0000000 (0000000000
00 100000000000,00000 2000000000).200000000000,
00000000000000000000.

000 1.1 0000 (=) za+yb=0000,00 2£000,a=—(y/z)b. y#£000,
b=—(z/y)a. 0000 @,b0000000000000000. («)00,e,b0000000
00000,0000000000000, 3ei;a=cborlessb=ca. 10000000000
0,00,e,b000000. n



00 1.2 a="%1,1,1),b=1%(1,2,3), c=%-1,0,1) 0000, a,b 0000000, a,b,c 00
ooooooooooo.

O00Oe,b00000O00OOODODODO,ODO0D00O0. ODO,D0D00DODOOO. O
O,za+yb+ze=00000,24+y—2=0,z+2y=0,24+3y+2=00,000000,
r=-2yz=c+y=—yO,y000000,0000. [ ]

00 1.3 00000000 a,b,c00000 < 00 3000000000DDODO0O0O. O
oooooo.

O00za+yb+z2¢=00,00 2#000,a=—(y/r)b—(2/x)c0,a 0 b,c00000
O000.0000.00,000000000,a=yb+z2corb=z2c+xaorc=xa+yb00
oooo,0000. ]

[D000000O0]
20000000 a="(ay,as,...,an), b="t(bi,bs,...,b,) eER* 000D, 0000 (standard
inner product) (a,b) U

(a,b) = Zaibi = a1by + azby + -+ apb,
i=1

O000d0.0000ooooooooooog.
00 1.1 a,b,ceR*"0 z,y e RODO,

@ooo) { (xa + yb,c) = z(a,c) + y(b,c)
(a,zb+yc) = z(a,b) + y(a,c)

(00OD) (a,b) = (b,a)

(000) (a,@)>0 00000 e=0000000.

0000 |a=+(a,e)0 a000000.00 (a,b)=0000,a,b00000000.
0 1.2 |a+b*>=|al>+2(a,b)+[b>000.
000O0o0oDO0oO00OoOoooog.

00 1.4 Dmmmlmmm.
0 (1) (a,b)= 3 (la|* + [b]* — |a — b|*)
0(@2) la+b*+]a—b2=2(al®*+|b?) (0OO0)

00 1.2 2000000 @,b00000 0000 (a,b) = |a||b| cos 6.
0000000000 |a—bf2=|al?+ b2 —2lallblcosd O, 000 1.200000. ]
0 1.3 0000000.0000000000000.

ogb 1.3 0booog.
0O ((1)(DOODOO0OOOOoOoO (Schwartz’s inequality)) |(a,b)| < |al|b].
0 (2) (00000 (triangle inequality)) |a + b] < |a| + |b].



00ooO0o(l)0oooooooUoo, ()0 200000000, 0D0O0OO0O. |

0014 R*0O000000DOOO ay,ae,...,a, 000 20000000000000000,
a,as,...,a, JOO0O00O0O0OO.

DDDD01€L1+CQCL2+"'+CTCLT:ODDD. a,,»DDDDDDDD,O:ci(ai,ai):ci|ai|2.
a; 2000, ¢; =0. [ |

1.3 0000o0booon

oboooooo,00oboc0oooocooooocooon.
oo 1.3 a:t(al,ag,ag),b:t(bl,bg,bg)DDD,

€1 €z €3

¢
a x b= "(azbz — azby,azby — arbz,a1by —asb1) =| a1 az as
by by b3

O0000,a0 bOOO (cross product) 00000000 (vector product) 000, (00O
O0000o00UoooOoooooooooy

[0jooDo00O0bO00D0O000O00,000000D0000,000000000, exterior product O
000000000,30000000000000000.0000 outerproduct 0OOOO0OOO.

O000exbO0O0O,000 00 bO0DO0O0OO0ODOOOODOODOOO,OO0D00 a,b0O0
gogobobobbooooobbbboooooobooobo.

00 1.5 a,bceR30 z,yc RODODO,

oooo) {(a:a—l—yb)xc:x(axc)—i—y(bxc)

a x (zb+ ye) = z(a x b) + y(a x ¢)
(0000) axb=—(bxa), 000 axa=0.
(0oo) (a x b,a) =(a xb,b) =0.

gooooooooooooboooooooon. DDDDDDDDDDDDDDDD,(aXb,a):
(Gng—&gbg)al-i-(agbl —a1b3)a2—|—(a1b2—a2b1)a3 =0. (a>< b,b) goooo, (axb,b) =
—(bxa,b)=0. [

00 1.5 000000 @,b000, |axb?=|al?b*-(a,b)? 00000000

goooooOoob0D,0b0bbf exbO0OD0O0OO0,e,b0000000DOODO0OOOODOOOO
0o0.

014 @b0000000000000 /[aPbP - (e,0)200000000000.
00 1.6 000000 @,b000,[e,b00000 < axb=0000.

a,b00000 < zecRa=zboryeRb=ya0000 a=00orb=000000
D0000000,00000 (a,b) =|allblcosd DOODODO.



14 00O0O0OOO0OO0OO0OO0OOOO0

ROODOOOOODOOOOOOOO0,0000 CO0O0O0000 QOO0OO0O00000000
ooooooo.

K=QR,CO00,00000000 000000000 K*O0OODOOOO, 000
ack"0 (KOO)nOOOOOODOOO. (0000 K=QRCO000,000000,
00000,000000000)

000 Cr0000000000 K=Q,RCO00 KOOOOOOOOOOOOOOO, R
00 K=QROO0O0O00000(00,Q"00 K=QOOOO0). 0000 KOoO0Ooooo
00000 (00,00,00000000 C*00000000,000000000,0000
00 R"00000,000000 QPO00000000).

00 1.7 C20000,00 3000000000000000000000.

a = t(]-, ]-7 1)’ b= t(]-v _i73)a c= t(_]-voa ]-)

2 00 (Matrix)

2.1 OOoOoobobobodao

o0 21 mpO0000000,00m0O,00n00 mxnOOOOOOOOOOOOOOO
00 (matrix) 000. 0000 mxnO000O0O.
gbooobooboooooa.

air a2 -t Gln

az1 Q22 -t G2p
A = (aij) = (aij)i<i<m1<j<n =

an1 an2 e Apn

00000000 A= (ay),B=(b;) 000,A=B &% Y ja;=b; 00000.

goooooono cobooooooo.
(aij) + (bij) = (aij +bi5),  claiz) = (cai;)
00,00 AQ (5,7) 000 (A); 00000000, ie., (A);; = ai;.
00 22 mxnOO A=(a;;) Onxr00 B=(b;)000,0 AB = (¢;;) O

n
Cij = Y airbrj = ainbyj + aiobyj + -+ + Qinbn;
k=1

O00.0000 ABO mxrQOQO.

gboooooobooooobooboooooboon,

m n n m

3NN =33 = > =Yy 0oooooooo.

i=1j=1 j=li=1 4j;1<i<m,1<j<n .7



00 21 mxnOO AOnxr00 B,C,0000¢000,000000.

(1) A(cB) = ¢(AB) O (2) A(B+C) = AB+ AC O (3) (A+ B)C = AB + BC.
000000000, 000000000000, 00, (4,4) 000 (1) 3, a(chyy) =
¢ 30y @ikbigs (2) 2oy aik(brj + crj) = 2o ainbrj + 22 aimery, (3) DO DO. u
00 22 mxnOO AOnxr00 B,rxsO00 COO0O0,00000000000.

(AB)C = A(BC)0 000,000 ABCOOO.

0000,k airbre)ce; = Dy air (D2, brece;)- ]

22 OOo0ogobbOboooobbobuooobobon

[000]0=0,,,: 0000000000 mxnO0O.

[0000]0nxn000 (n0)0000,000,00,,000000.

[D0D0D0)E=E, n0000,0000000 10,00 000000000;(0)00
00 (unit matrix) 000. 000000000000 3§;=1(=j), =0(#4) 00000
E=(;)00000.0000 »000 ADOD,AE=EA=A0000.

[D0O00] Ey;: n0000, (,j) 00000 10,00 000000000. (r0)0000
000.000 (k1) 000 663 00000. 00 n00 A= (a;;) 000, A=) a;;E; O

i

0000.000 E=Y,;6;E;.
0 2.1 EijjEy=6;E; 00000000,

0000 Ey; O (5,8) 00: 85ije, By O (t,u) D0: 846, 00,000 (s,u) 00:

(EijEr)su = Y _(85i056) Oex0iu) = 65i(8j401x)01u
t t

goo,oood 5jt6tk|] j=k0000t=4001000,j#4#k0000 t0000000O

0000. 00, 60 = 65k D00 (Eij Eri)su = 05i0k01u = 05k (0si01u) = 051 (Eir) su- u

ud 23 mxnO0O A:(aij)DDD,DDDDDDDDDDD,DD,(i,j)D|:||:| aj; 00O
0000'A000, A0DD0ODO (transposed matrix) 000. (000,40 (i,5) OO

(‘A)ij = aji.)

00 23 mxnOO A=(a;;) Dnxr 00 B=(b;) 000, AB)="B'A.
DDDD(AB)ijZZkaikbkj DDDDD7

"AB)ij = 3oy agubri = 205, briaje = 225, (‘B)an(‘A) kg = (‘BA)s;. L
n000 AOODO (trace): trA=» ajy=an+axn+ - +ay 0000 200 n00

i=1
0 ABOOD,tr(AB)=tr(BA)OOD00. 00, 3,(3, ambri) = 32 (32, britti)-
[0]0300 n000 A,B,CO0000, tr(ABC) = tr(BCA) = tr (CAB) OO, tr (ACB)
gooooboooooooo.

0 2.2 tr(ABC)#tr(ACB)00000000000,0000.



23 0OU0O0O0oObobOobOoOogo

o000 K=R,COOO.OO,K"0000D0O0O0OO,0000000000D0000O.
00 24 00 f:K"— K"O00000 (linear mapping) <% Va,be K", "z € K,
(1) fla+b)=f(a)+ f(b) 0 (2) f(za) =zf(a).
O00m=n00000000 f:K"—>K"0 KrO0OOOOOO (linear transform) 000 .

021 mxnUOO AOODQO, fa(e)=Aa (ac K")ODOOOO, fa: K" K™ OO0OOOO
Oo00.00000 AQOOOOoOoOooOOoOoDDODDOOO.

0ooooO0Oooooo.
0024 00 f:K"—>K"0O0O0O0O0O0OO00O,34: mxnO0; f=fa.

O000K" 0000000 ey,...,e, 0000,0 1< <n000,a; = fle;) 00
0, A= (ay,...,a,) 000000, OO0,z € KM x =Y zje; 00, f(x) = Y. z;f(ej) =

Yozja; = (ai,...,ay)x = Ax.

00 2.5 rxmO0 ADmxn00 BOOOOOOOOOOO fa: K™ — K'0O fg: K" — K™
000,00000 faofg=fag 0000,

0000 (fao f)(®) = fa(fp(x)) = A(Bx) = (AB)x = fap(x). [ |

24 000

0025 n000 ADOOD,AX=XA=F0O0OOOD,000 XOOOOOODO,00 X
0 AO0DDO0O (inverse matrix) 000, A~! 000. 000000 AODOOOO (regular
matrix) 000000.

00,00000,AX =Eor XA=EDO0O0OOODOOOOODOOOOOOOOOO
0(—» D00 5.2). 0000000000000O0000. 00, X 00000000000,
X'=X'E=X(AX)=(X'A)X =EX=X000.

00 21 n00000 A, BODOO, (AB)"'=B"'A"'00000D0O0.

00000, (AB)(B7'A™Y) = A(BBH)A™! = AEA™' = AA~' = E. 000000,
(B~'A"')(AB) = E. n



3 0DO000OD0OO0OO0OO0O0D0 (Linear transforms on the plane or
the space)

3.1 200000000000000000

A:(a "Yooo, A= cot(y= T 7P

c d —-c a
O00.00 detA=ad—bcO000,A0000 (determinant) J00. 00000,

) 0 A0D000O00O (cofactor matrix)

AA=AA=E, ie, ACof(A)= Cof(A)A= (detA)E
ooOo,0o0o0o00o.
- A Cof (A)
00 3.1 2000 A0O0O0O,A000 A .0000 A= = .
3 ’ > detd#0 det A det A

000000 detA£000, AA=AA=(det AAE0D0D0D0000,0000000,000
000000 A'=A4/(detA) 000. 00 ADDOOODO, A0 AA=(detA)EDODODODO
000 A= (detA)A~L. 00 detA=00000,A=00,0000,4=00000000,
oooo. n

[000000U00O0O0O0ooooOoUooooog]

00 3.2 0U00U0UUOD0 e0 #0000DUDO (D0OODDUD)00O00D0O0OO re(e) 00
O0,00000000,0000000 2000 R OO0ODO; r9(a) = Rea. OODODO

sin 6 cosf
0000 « 0000000000 /000000000 0OOODO (O0)O0 tk(e)0OOO,O

000000000. 0000000 T,0000,%(a)=T,a0,00 ¢0 000000 70

CcoSs 2T sin 27
oag, T, = ) .
sin27  —cos 2Tt

0 —sind
R9—<COS ""Y) Dooooo Ry =R,

ob0o000o0obO0b00o0b00,0b0000b0000bOobDOonn, Ry, T, DODOODODO.

a b 1 0 a b
00 Ry = .0ooo, e = ,ey = 000d, Reey = ,Rges = , 0o
c d 0 1 c d

ro(e1) = (cosf,sinf),rg(es) = ‘(—sinf,cosf) 0O O0DOO0O, 00000O. 00O, T, 00
O00e O 2r000,e, 000 ¢0000 —(r/2—7) 000,00 2000000000,
te(er) = t(cos27,sin 27), to(€2) = *(—sin(27 — ), cos(27 — 7)) = {(sin27, —cos27) OO0, OO
ooo. [ ]

3.2 0OdOoQO

00 3.1 ADnO00000 (orthogonal matrix) €% A0 n 0000 O, A'A =AA = E.

goboboooooooooooob,20b0boobobo,ob0obobooooooooD. booo,
oo 100000, -10000000.

nO00 ADDODOOUOOOO nOOUODOOOOUOO A=(ay,...,a,) 00000000OO.
oooo,0b0b000,000b0000000.



(anabl) (an;bn)
00 3.3 nO000 A= (a4,...,a,) 00000 < a4,...,a, 000 1000000000
Oo0a0no y i.e., (ai,aj) = 6”

00 34 AO020000000,0000100000,-10000000.

O0000A=(e,b)0000,e0000 100000000,00000 —¢000,000
000 e, 00000000, e, R ga=e, (< a=Rpe;). 00 bO00O0O0 10,e000
000000,0000000,e 0 —e,000.000,e, 00000,

A= (R9617R962) = Re(eheg) = RgE = Rg.

—eo UOO0OO0O,00000

A= Ry 1 0 _ cos sin 6
0 -1 sinf —cosf

000,z 00000006¢/2000000000000000000.00 detADOOOOO
god -10,0000100000,00,000000,0000000000¢D0. |

3.3 300000,0000

30000000

0000,000000,300000000000,00000000000000000,000000
000,000000000000,0000000,000000.000,00000,00000000
0000D0000,00000000000,0000000000000.0000,0000,200,30
00000,000000000,000000000000000,0000000000000.0

00 3.1 300000000 a,b,e000,(axb,e)=(bxc,a)=(cxa,b). 000 a,b,cO0OO
gooooooooo,oooo o.

00000000000. 00 e=b00 exb=0000,00000,00000000D0.

00 3.2 30000 A=(a,b,c)000,0000000000 detADDOO0,ADD0O0DO0DOO. O
D,A:(CL”)DDDD

det A = a11022a33 + a12G23031 + a13021a32 — 110230432 — A12021433 — @13022031 -
00 A =%bxececxa,axb)0000. A/A=%bxc,cxa,axb)a,bc)00,
(bxec,a) (bxeb) (bxec) det A 0 0
AA=| (exa,a) (cxa,b) (cxa,c) | = 0 detA 0 | = (det A)E.
(axb,a) (axbb) (axb,c) 0 0 detA
000 ADDDDDDODO A= Cof(A)=A' ='(bxc,exa,axb) 0000, AA= (detA)EDDOO

0.000 AA=(det A)EO0OOO.

. A Cof(A)
00 3.5 3000 ADO0ODO,AQ000 <= detA#0.0000 A = detA = detd

10



0000detA#000,A0D000, A =A/(detA) 00000 200000000000. 00, A
00000,A ' 0 AA=(det A)E 0000000 A= (detA)A™' 0,00 detA=00000,A=0
0,0000,bxec=¢cxa=axb=0.0000,0000000000000000000, [b==xaor
a=12b),[c=yborb=1y'cl,[a=zcorc=72a]000. 00000000 10000000,0000
ooooooo.odo,b=za,c=yba=z2c00 b=za,c=zya 000, A= (a,za,zya). D00,
00D00D00D000000. 00, X =4b, b, bs) 000,00

(b1,a) z(bi,a) zy(bi,a)
E=XA=| (b2,a) =z(b2,a) =zy(be,a)
(bg, Cl.) .T(bg, a) l‘y(bg, a)

0oo0,010000,(Mh,e)=10,2z=00000,0000000 20,300000000.00000
oooog. |

00 3.1 30000 A=(a,b,c)000,000000000000.
0(1)A0DDOO0D0, e, A™" O (2) det A#£0
0(3)abcll000DOOD0. O 4)abellD0O.

000(1) < (2000000, (3) < (4000000, (2) < (3)00000. detA =
(bxec,a)=(cxa,b)=(axbec)000000,00,detA=00000,(bxe,a)=00,bxecl b,c
0o0obOooOo0oodD,e00D00D00ODOOOOOODOO,ed beOODOODOODOOOOOOOOOO. O
0,00 @0 be000000000000,a=ab+yc0000,detA=(bxc,a)=0000. 00

oo. (]
[Doo0]
000 2 =2+4y € CO00000 ¢4 =+—Li®=-1000,qzyeROOOO0OOO0OO.

z=Rez,y=Imz000,0000 2000 (real part), 00 (imaginary part) 000. 000 R?
goooo t(m,y)DDDDDDDDDDD,CD R?O00000000OOOOOOOO.

00 3.2 a=at+ibeCOO00,CO0 «O0O00OOOOOOOO,00000000000,00 (Z 72)

goooo.

0000fk(2) =az00000000000000. a(140-4) =a = a+ib,a(0+1-i) = ia = —b+ia
00,00000000 %1,0)0 “(a,b) O0,%0,1) 0 Y(=b,e) 0000000000000, |

00 3.2 JO0O00OROOOOO :;0000Q00Q0OCOOOOO CO,0DO0O0DODODOO00O0O0O0O00O0O0OO
oobooooo,ooooocoooboocoo,b0ooooboocooooa.

[0]0000000 o« 00000000 fa; fa(2) =z 000000000000000,000000
0000, ie., fofa=fs0fa=fsa. 000,a0€CO fo 010 100000.000,0000000
00000000 R*0000,0000000000000000000000000.

e~{(5 4 Jmres)

00010000 a=a+ib0 a?4+b>=100,70;a =cosf,b=sin0 0000000, o = cos@+isinf
UD0000 R 00000, OODO ReR, = Reyr 00,

(cos@ +isinf)(cosT + isinT) = cos(0 + 7) + isin(6 + 7).
000000000000 0000000 (de Moivre’s equation) JO0000.

(cos@ +isinf)" = cosnb + isinnb.

gooooo
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4 000000 (Definition of determinant)

4.1 0O0O0OO0O0O0OODOOOOO

00,0000000000000000000000000,000000000,0000
0,000000000000000000.

000 detADDD0O0O0O0O0O,20,30000000000,A000000000000
00000000.0000,0000,A= Cof(A)000,0A4A=AA=(detA)EDO0OO
0000000000000000(00,00000 A= Cof(4)0000000000000
0,00000000,00000,000000000000).00,000000000000
00000000,0detE=100000000000000000.00000,000000
ooooooo.

00 41 000000 ADOO,AD000 < detA#0. 0000 A~' = Cof (4)/(det A).

O0,0000000,detAO0DO0O (unique) 000000000000, (OO detAO unique 00
000,0000000,0000 unique000, Cof (A) O unique000. detA=000 AX=XA=0
00 X O X=00O0OOooooo?000,0b00000000000D00D00O000O, 00O, unique OO
goob0.00o00b0b0b0oD00 miqueJ000O0ODOODODODODODODO,0D00DODOOOO
oooo.)

4.2 000000

obobooobooobooboobooooboon.

00 4.1 ai,as,...,a, 0 n00 n0000D00000. 0000000 100000000
0000 det(ay,as,...,a,) 000 400000000000000000 A= (a,as,...,an)
0000000,detADD0.00,c000000,1<i<n000,e,0n000000.

(1) det(aq,...,ca,...,a,) =cdet(as,...,a;,a,) (00 (2) 00000 OOOOOOOO.)
(2) det(a,...,a;+al,...,a,) =det(a,...,a;...,a,) +det(ay,...,a, ... a,).

(3) i#j = det(...,a4,...,a;,...)=—det(...,a;,...,a;,...),
000 20000000000000 —-10000.(000)

(4) det(eq,...,en) =1.

[0]J0detAD |A|lODO0O0O0OOOOO,000000,00000000DOO0OOOOOO,
guoboooobooobobo. gob,oobboobboobooboboobbooboo,oooa
gogbgoobooboobooboobooboon.

[200,3000000]

0000000,00000000000000,00000000000000 (00000
0),00,00000000,000000000000.

A = (aij)ij<n 000000000, n=2000, det A = ay1a9s — aras, n = 3000,

det A = a11a22a33 + a12a23a31 + 13021032 — 411023032 — G12021033 — A13G22a31 0 OO 0.
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00 4.1 20000000000000,00 f(a,ay) 0000 det(ar,ap) 000 <
(1) f(cay,az) = flay,cas) = cf(ar,az) (2) 00000000D0000.)
(2) flar +a},az) = f(ar,as) + f(a},as). a; 000000 D.
(3) flaz,a1) = —f(a1,a2). (O0ODO)
(4) f(e1,e2) =1.

ooooooo, 300 fle,e)=0000000000000.0000,00000000
DDDDDD,DDDDDDDDDD.a1:allel—f—agleg,ag:a1261+a2262DD,(1>7(2)D
00000 20000,000,000000000 (400,

flai,a2) = a1 f(e1,az) + as f(ez, az)
= (a1 +a12)f(e1,e1) + (a11 + az2) f(er, e2) + (az1 + a12) f(e2, €1) + (a1 + azz) f(e2, €2)
= (a11 +ag)f(e1, e2) + (a1 + a12) f(e2, e1)

= Q11022 — A12021.
|

00 4.2 30000000000000,00 f(ay,as,a3) 3000 det(ar,as,a3) 000 <
0000000000000 400000 f0000.

000000000,00,000000 det(ar,as,as) = (as X as,a;) = (as x ay,az) 00 4
00000000000000000.00,000000.00, fler,e1,e3)=0000000
00000000 0000000000.0000 a; =aye; +ases+ages 00000000,

flai,a2,a3) = > aj,105,205,3 det(e;, , €j,, €j,).
(41,92.93)~(1,2,3)
(j1sj2.73) ~ (1,2,3) O (j1,42,43) O (1,2,3) 000000000000000. n
[»000000]

oo0on000 AOOOO0OO,0000,000C0C0QCQCQOQCQOQOOOQOOOOOOOOOLO,
ooooboooobo,ob0oboo,b0boooobooooooboooooa,

det A = Z a1, - - Gnyj, det(es,, ..., e5,). (4.1)

(G155 )~ (15000m)

000, (i, yjn) ~(1,...,n) 0 (j1,...,4n) 0 (1,...,n) 0000D00000000000. O

1 2 ...
DDDDDDDD(permutation)DDD,DDDa<, ) " )ooo,oooo

]1 j2 e Jn
0S,000.000000j=0¢(G)000.000,00000,e€,,...,e;, 012000000

goooooobboobbog, e,...,e, 00000 oooogd. bbb DOO0 mOooag,
det(ej,,...,e;,)=(—1)"000,0000 000 (signature) 000,sgn(c) 000. OO
ooo0O,000000000.
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o0 4.2 nO00O0O A:(aij)ljljl:l,
det A = Z sgn (0)@16(1) " * " Ano(n) (4.2)
o€Sy,

go,0o00,00b000o0000000,00000000 nOOO0OOO0ODOOODOOOOOO,0000
gobobooooooo,ocobooooo0oobo. ooo,boboodoooobo0booboooboooboboOoon
gooooooooooobo.obo,bbooo,0o0oboo,b0ooboo,b0oobboo,00oonD, o
goooooo,bocoboo,0coboooobocoooboooooooobo.

041 n>2000,100000€S,0,000000000000000000000O0O00O0O0ODO0O.

000040 4000000000 (,)000,(,:)0000000,0000000000000,0
00, (1,3)(1,2) 0000,0000000.0000,10 300000000,10 200000000
00, (1,2,3) —» (3,1,2)0000000000000.

00,(4.1)000,0000000. a; ="

Jji=1

a;qe;, 00000000000

n

det(@r,...,an) = Y aji---ajndet(es,. . e5,)
J1sees Jn=1

ogoobo,boo0oobooooooooobo,o0oboboooon,

det(al,...,an) = Z Ajy1 - Ajpn det(ejl,...,ejn)

00000. 000 a;;0 @, 00000000000000000,000000,000000000
00000000000000. 00, 4,...,jn 0 1,...,n 00000000, ajy1---a5,, 000000
000, g, --ank, 000000000. 0000, (ki,...,k:) O (j1,...,4») 000000000000
000, det(ej, ..., e;,) = det(ek,,...,ex,) 00000 (000000000000000000000
ooo).

5 000000 (Properties of determinant)

oboooooo,coocbobobobobobooboo,0cooco0oboobobOoobo,ooon
0,000000000000,00000 W)OUDOoOOo.

5.1 OU0O0U0oooootooooooooo,ooood
00 5.1 o000 ADDD,000000.

(1) 000000000 000 det A =0.

(2) 00000000, det A=0.

(3) 000000D0000000000000000000.

goboobobobooboobooboobooboon.

ooooo (1)0=ap,—a, 000000, det(ay,...,0) =det(ay,...,a,)—det(ay,...,a,) =
0. 00000=0-a, 000 00O0OOOOOO.

(2) 0000000000000 000O00O0O0,0000000,0000000.

(3)0000 (2) 00,

det(ay,...,a, + cai) =det(ay,...,a,) + cdet(ay,...,a1) =det(ay,...,ay,).

obooooobooooboooooon. [ ]
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00 5.2 0000 ADOO, det(*A) = det A.
oOooo DA:(aw)DDD,tA:(bl])DDDD,b”:aﬂ

det(*A) = Z bij, - - byj, det(ej,, ..., €;,) :Zajll--~ajnndet(ej1,...,ejn).

(J1se-mrdin)~(1,ee0sm)

000,000000000000 (;000000),aj,1--aj,n=a1s, - ane, 1000. 00
a, (f1,...,4,) 0 (j1,...,jn) 00000000D00. 000000000,

det(ejl, .. .,Ejn) = det(egl, .. .,egn).

00,200000000000 (00)0000000000, (ej,,...,e;,) 0 (e1,...,e,) 00
000000000000000000000, (eq,...,e.,) 0 (e1,...,e,) 000000,00
ooooooooo (-)™ (mOO0000)000. n

00 5.3 n000 A,BOOO, det(AB) = (det A)(det B).
0000B = (by,...,b,) 000, AB = (Ab,,...,Ab,) 00D OO,
f(b1,...,b,) = f(B) :=det(AB) = det(Aby, ..., Ab,)

goooob. bo 200000000O00O00OOOOOO0. DOO,0000000D00, 0
ggoooobbb =0o0b0O0.0000oooobo

f(blv--~7bn): Z b1j1"'bnjn.f(ejlv""ejn)'

(G150 sdn)~(1500,m)

ej,...,e;, 1 200000000000000, ey,...,e, 0000000000. 00000
000 f(ey,...,e,) 000000, 00, det(ej,,...,e;,) 00000000 (00,00000
00 mO0000,0000 (-)™000). 000,

f(bl,...,bn) = Z b1j1 bn]n det(ejl,...,ejn)f(el,...,en).

(J15e-esdn)~(1,...m)

0000, fler,...,en) = f(E) =det ADDD, 0000 (det B)(det A) 00O n
051 0000 ADDDOOO,detA#00O, det(A™Y) = (det A)~L.

AA-'=F0000000CO0,000000,000.

5.2 0OUOgon
n000 AOO kOO0 ¢0O0O0OOODODO (n—-1)0000 A, OOO,A0D00000O.
00 5.1 OO0 n0OD0O0O AO0ODO,detA=detA;; OOOODO.

All

an1
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DDDDA:(GZJ)DDDD,Allm (Z,j)DDD ai+1’j+1|]|]|:|,

det A11 = Z a2j2 s anjn det(ejg, ey ejn).
(J2y--sdn)~(2;-5m)
RN
det A = Z A15,Q25, ** * Anj, det(ejl y€hgy ey Ejn)
(jl,jg ..... jn)N(l,Q ..... n)
ogooo,;;>200 a5, =0000,5=10000000,000 e =1000,

det A = Z A5, * * * Unyj, det(6176j2,...,6jn)
(J25--50n)~(2,..5m)
000 det(er,ej,,...,e;,) =det(ej,,...,e;,) 000, 00000. [ ]

0 5.2 n000 ADO kOO (0,...,1,0,...,0) (0 000 1) 00, det A = (—1)** det Ay,

00000 k0000000000000000,0 10000000000, (-0)*'0000.
000,0/000100000000,000 (-0)10000.000, (=1)k2=(-1)k+¢
oooo. ]

00 5.1 n000 A0 1<ij<n000,A(A); = (-1)*detA; 0000, AD (i,5) O
00 (cofactor) 0ODO.

00 54 (0 s 00000000000) nOO0 A01<i<n0O0O0O,
det A = ailA(A)il + aigA(A)ig + -4 ainA(A)in = zn:aikA(A)ik.
k=1
00 5.5 (0 jO00000000000) nO0OO0 AD01<jyj<nOb00,
det A = ale(A)lj + anA(A)zj +-+ anjA(A)nj = iaij(A)kj'
k=1

00 5.1 A0 00000 (le.,?>j=4a; =0 0000000000 0)00, detA =
ajax---an, 10000000,

ubooooooboooo,ons100,000.

5.3 UUuogooboboooobood

00 5.2 nO000 ADOODOO (cofactor matrix) A= Cof (A) D00 (4,j) 000000
A(4); 0000000000000. 00, A= Cof (4) = {(A(A);;) = T((—1)"7 det A;).

00 5.6 nO000 AOOO, A= Cof(A) 000, AA= AA = (det A)E.

O000A=(a;) 000,
(AZ)ZJ = Zaikgkj = Z azkA(A)Jk = (det A)@j
k=1 k=1

00,i=;00,0000000000000 detADO0ODO,i%£; 00,A00 ;000
000000000000 A 00 j00000000000000,detA’ 00000, 40
0000 ;0000000,detA =0000. 000,000000000000000
(AA)y; = (det A)§;; 0OODODO, 00, AA=AA=(det AEODODODD. n
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00 5.7 n000 ADOD,A000 <= detA#0 0000 A~' = Cof (4)/(det A).

000,0000 detA#00000000000 (DOODOOUOOOO).000OOOOOO (2
oooooon).

00 52 n000 AODOO0O0O0OO0OO0,AX=XA=FE0OOn0O0O0O XOOOO,00,00
000 AX=FE0OOO XA=EOOOODOO,A0000,A4A'=X0000000000.

00 5.8 (Vandermonde (0000000 0)O00O0O)

€1 To e T
det | 2% 23 - a3 | =T](@-=). (»0000000,0000000.)
x?fl xg% an—t

00000O00O00o0ooO0 f(e,...,r,) 0000, 21,...,2, 00000,1<i<j<n00
0,z;02,00000,0:000 000000000, f0000000.000,f0 z;—x,
000o000. 0000, 3g(zy, ..., z.): 000; f(zr,@n) = g2, w0) [ Lo (x —20). O
00,2 0000000000. 0 10000000000000000, deg,,f=n-1=
deg,, [T;;(zj —2;) 000, deg,, 9g=0000. 00000000000000,00,g9=c0O
000000.00 2%}---27"'0000000.0000000D000000OO, f0O000O
01000000000.00 [[o(z—2) 000, (wn—21)(@n —22) (T — Tp—1) - (Tp—1 —
1) (Tp—1 —x2) + (Tpo1 — Tp_a) - (x3—x1)(zs —x2) - (zo—2x;) 00000000, 00000
0000 1000.0000 ¢g=1000,00000000. ]

00 5.3(00000)

xl 1'2 ... l’n
Tp X1 e Tn—1
det | . . = JI @i+¢oat-+¢ ).
. . T, . CECCn=1
xz x3 PR xl
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o]jo ¢,...,(, 010 n00000,00000 Vandermonde 00000000000,

T Ty - 1 1 ... 1
Tp X1 ot Tp—d G1 G Cn
To T3 e T {7‘71 5’71 e C;L_l
T+ Qra o+ e m G+ G
o+ G4+ e o TG+
Tot+CQas+-+ (T e o mat Guas+ o+ (0T
JL‘1+C11‘2+"'+C{L_1LE” T+ Curo + -+,
G+ Qoo+ + G ) o Gl@+ Guaea+ -+ )
P @+ Qo+ ) e @+ G+ + G )
1 1 ... 1
L 1 G G G
:H($1+Ci$2+"'+ci Tn)
i=1 : : :
infl ;L*l C:lz—l
00 Vandermonde JO0O0ODO 0O00OO0OD0OO,00000. [ |
00 54 OOOOODOOOO.
1 ¢ -+ ¢
c 1 PRI C
det| | |: (DDDODOD1000,00 o).
C C DRI 1

[0]0C¢CeCKl=1000,¢#10000 14+¢+C+--+¢"1=000,1+¢c+%c+
ot (le=(1-¢)+e(1+¢+C+ -+ ) =1-c0000000000,0000000
000000 {1+ (n—-1)c}(1-ct000. [ ]

54 00U

oot nOo0obOO0OO0O0OOO0OOOOO0OOOOOOOOO0O,ODO000000O0CO0O0DOOO0O.

J,={1,2,...,n} 000,00 o:J, = J, 000 (permutation) &L o0 J, 00000, ie,
i;ﬁj[l[la(i);éa(j).DDDa:(.l 2 o
j1 g2 o jn
S, 000,n 0000 (n-dimensional symmetric group) 000. 00 i€ J,,0(i) =i 00000
0000000, 000.¢0€8, 00000000000, '000.20000 0,7€8,000,0
or €8, 0 (o7)(i) =0(r(d)) 0000 (U0,0or=0co0om; 0 =00000). 000,070 7o 0000
000000. 00 4,j€Jui#j000,i0 j0000000000000 (transposition) 000,
00 () or (j,i)0DO.
goboooooooo,boo0ooboo,cooboooooo.

O00. 000 s=0()000. 00000

00 59 n>2000,00000 ce S, 00000000000000.
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00 5.3 0€8,000,m=4{(i,j);1<i<j<n,o@d)>c()}: 00000000000 (4,5) 000
0c0000000,000 sgn(o)=(-1)"0 o000 (signature) J00.

00 54 n>2000,00 z1,22,...,2, 0000 A, = H (zi —z;) 0 z1,22,...,2, 00000
1<i<j<n

0.000€8,000,0A)= [ @ow)— o)

00 5.10 (1) o(An) =sgn(0)An (2) (o7)(An) =o(7(Ar)) (3) sgn(o7) = sgn (o)sgn (7).

0000(1) 000000000 {{i,jh1<i<j<n}={{cl)o()1<i<j<n}000,A,
0 o(A,) 0000,00000000000000. 00,000 i<;000,0()>0()00000
To) —Tey 10000000. 0000 ¢ 0000 mO000000,0000000. (000000,
000000000, 00 sgn(e) 00000000.) (2) 00 or 0 o(A,) D0OO0OOOO. (3)0 (1),
(2)0000000. 00, sgn(om)A, = (07)(Ar) = o(7(Ay)) =sgn (0)7(Ar) = sgn (o)sgn (7)An,.

|

00 5.11 0€8, 00000000000000,0=m7- 7 (n000) 00 sgn(o) = (—1)". O
000000000000000,000000000,00000000000000.

000000000 (3) 00 sgn(o) =sgn(m)---sgn(rm) =(—-1)™. 00,0 ="im5---7, (r; D00)
000000000, (-1)™ =sgn(o) = (-1)* 000, m 00000000D0. m

0000000,0€8,0sgn(0)=1000,000,sgn(0)=-1000,000000.00,00
(i,/) (i#£7)0000000.

00 5.12 DDU:(‘l 2 om

; . >EII:IEI,det(eil,...,ein):sgn(afl):sgn(a).
1 2 - in

000000 1 = sgn(id) = sgn(o)sgn(c™') OO, sgn(o) =sgn(c™). 000 ¢! = 1127
( 000) D000, 0000 2000000000000 (1) 000000, det(es,,...,e,) =
(=1)™det(e1,...,en) = (—1)™ =sgn (¢~ ') = sgn (o). [ ]
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6 00000 (Sweeping out method)
6.1 DOODOODOODOOODOOOOO
[0000]000o0o0ooooooooo.

a1171 + a12%2 + -+ + Q1p%n = by

a2171 + a2 + - + a2pTn = ba

121 + Apa®o + -+ App Ty = by
goooboboo,0j00oobobobooooooo,obooog.
0(1)000000000000000.0 (2)0000000.0 (3)00000000000.

ooboO,0000000

a1 a2 - Gip | by
ag1 G2 v G2 | b2
an1 an2 e Ann bn

oobo,00000b0000.
0(l)oo0oo0O0oo0oooU0bD. O (2)0oopoUoo0.0 @)oo ooooUbooOO.

gbooob oogboo bood.

0000000000000, 00o000

1 O cipy1 -+ cin |y
@) 1 Crr4+1 Crn dr
0] 0] 0

gooooooo,onoboooooon.
Tl = —Clr41Tr41 — "+ — ClnTn +dy
Ly = *crr+1xr+1*"'*crnmn+dr
Ty41,...,2n, 000000000

oooobooooboooboon.

[D0000D0]00000000000000000,0000000000000.

nO000 ADDD, AX =EO0O0 nO000 X = (24,...,2,) 0000000, 00000
Ar;=e; 00000000000.000,nx2n00 (A|E)000D00OO (E|X)000
000000000,00 X0 AD0OD0O,ie, X=A4"1000.

000D0,A0000 E0DDODOOOOODOD,A0000D00000O0O0OOOOOO.
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6.2 UUOUOOgbOObOOoOoOooboOo
gbooooooboooogoobo,oboooooobooo.
0 (1)0o0o0oo0o00oo0o0oo0oo. U (2)0oooooo.o0 @3 UoboUooooooog.

gbooo ooboob boo,b0o0000b00,0000000.

E. O
o0 6.1 000 mxn0OO AD,DDDDDDDDDDDDDDD,(OT O)DDDDD

goobooo.

000000 A=000000000,A#0000.0,000,000000000,a11#0
oooo.o0o 100 1/e; 000,(1,1) 000 10000,0 10000000,000000
gb,010o0o00boo00obooob0obOO.00oboooooo,b01bbo0oboobooogo
gb.00o0oooocobo,oboooooooboo,obbooboo,oboob oboboOon
gboooooo,oboooooa. [ ]

goooooo,-r0000b0b00o0bO0o0o0,0000bO, 00000000 ooo. 70,80
(00O0O00D0)000000C00O0ODO0O0OO0LO,0D00000ODOO0OODOO0OOOOOO
goboob.obo,ooboobo,boobooobg.

E. O
o061 mxnOO AODODOOOOO, 0 o oooooooooo,r0 A0DO
(rank) OO0, rankAO0O0O.

0000 rankA <m An=min{m,n}.

[Dooo)o

00 6.2 00300 n0000,00000000.
0 (1) P(i,j;¢) 00000 E, 0 (4,5) 000 000 c000000. (i #5)
0(2) Q6,j) 00000 E, 004000 000000000,

0 (3) R(i;e) 00000 E, O (4,4) 000 10 0 000000. (c#0)

P(i,j;c) =F,+ CEZ‘j, Q(Z,j) = (En — FE;; — E]‘j) + Eij + Eji, R(i;c) = (En — E“) + cE;;.

goooooodo,mxnO0 ADOO,000000000 mOODOODODOODOO,
gboooobdbo nbOOO0OO0ODOOOOODOO,00,

0 P(i,jic)A: ADD i0 +cO 5O,

0Q(,j)A: ADD 0 <040,

O R(i;e)A: AOO ¢ O xe.
gbo,0o0o0oog,000o0a0.
oo 6.1 0O0OO P(i,5;¢), Q(4,4), Ri;c) 00D DODOOOOOOO.

P(i,j;—c), Q(i,§), R(i;1/c) 000000 0. 00O,

COET) (D0 G

oboooooooon.
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E. O
00 6.2 000 mxnOO ADDD,HQ:mDDDDD,HP:nDDDDD;QAP—( o 0)

gbogogoogaon.

oooooo,0o0ooooo0ogooooboo0oooooo, 000 uuoo,mBbOoOoooO

E,
0, QA= 0(*) 000,00000000000000000000000,000 PO
E, E, O
000,n000000, QAP = ) p= . n
0O O O O

00 6.3 nO0O0 ADDOO <= rankA =n.

000D0DAODDOO,0D0000000000,(A|E)DD000DOO (E|A-)O00DO.
000, rank(A)=n. 00,000000000. 00, rank(A)=n00 P,Q: 00; QAP =F
0,A=Q"'P'000,00000. n

[DoOoDooOo00]

A | En
E.| O

FlQ E. O\,
o,00d nDDDDDDDDDDDD,(%)DDDD.DDD,F7<O O)(rfrankA).
0o0oo,QAP=FO0000.

00 6.4 AD mxnOO000O, (m+n)x (m+n)00 ( )DDDD m 00000000

000000,000000000,7%Q: mO00000,°P: n00000;QAP=FO0000.000,

Q| O A | En Pl O\ _ [(QA|Q Pl O\ _ ([ QAP|Q

O|E., E.| O O|E. ) \E.|O O|E.) \ P |0 )"
000000,000 mOO0O000000,3000000,000 »n0000000000000000
0,0000000000000000. u

00 6.5 D0000000,X=PFQO000,AXA=ADD0D0DO.

000000, FFF=F 000000000000, AP=Q 'FFQA=FP ' 0000, AXA =
A(PFQ)A= (AP)'F(QA) = (Q'F)'F(FP™ ) =Q ' (FIFF)P™' =Q 'FP™ ! = A. u

00 6.3 mxnOO ADDOOO,nxmO0 X0 AXA=AOOOOOO,X 0O A0000O0O0O00O
0,A-000.

gobobooo,oboboobooobooo,gbg,bobobgo,boboboboboobooobooo.

061 ADOOODDO, A" =A%

000000 (0ooOoo)

7 000000 (Vector spaces)
71 ODOOooOOooOoOOoboOoOoboooboon

obooooooobooooobooo,ocobobooo,ob0,bo00o00,00000000
gboogoo,bogoobooboooboobbo. oboo,0oboobbooboobbon
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0000000000C0000000,000 K=R,CO,0000000 QOOOOOOOO.
0000000,0000,00000000000000).)
00000000,R"000000000000 K=ROOOO,RO0000000,K=Q
0000,QO000000.000C"0 K=C,RQOOOO,CO000O00,RO00OO
0,Q000000000,000000000000000000000000000.

071 DO00O0O0OO0OO0OO0bOOO0OOOobDOobObOOooOooDo.

(1) D mxn0000 Mpo(R)O ROOODOO0,00 mxnOO000 Mpyy,(C)O CO
ooooo.

(2) 0000 000000 Rz)00000000 »00000 Rlz]<, D ROODDOOO,
0000000000000000,Clel,Chl<, 0 COO0D0OO0O.

(3) 00 ICRODODDOO £00000D0DOO0OODOCKI)D ROOOOODO,

(4) 0,00) 000000000 O0ODOOOO,0000O0DO0OOOOOO,000000000
ooooo.

000D VO KODOOOoOooooo.

[Dooo0o]
000000000000000000000000,0000,000000.

oo 71 a,a9,...,a, €V O0O000O (linear independent) PN C1,Coy ..., 0 € K OO
0,0000 ) ca;=000¢=0(=12,..,m).

i=1
0000000,0000 (linear dependent) 00 0O0O00O. 00O, ay,as,...,8, €V 0

D000 €5 3 £0; Y cia; = 0.

=1

oo 71 aj,ag,...,a, €cVIOOODOODOO,1<h << ---<p<m0O00,00000
a;,a,,...,a;, 0O0000.00 a4,a4,,...,a;, 0000000 aq,a2,...,a, 00000,

0000 ¢,a, =00000,00000 000000000000, %", ca;=00
000. {e;}) 00000000 ¢=0 (% 000,00,¢,=0(Y)000. n

oo 7.2 ap,aq,...,a, €V 0OOO0O0OO, a,a2,...,am,an,+1 €V 0000000, aper O
n

ay,ay,...,a, 000000000, ie, Heliamr = Y cia.
=1

0000y, " ¢a; =0000. ¢t £000000. 00 ¢,y =000,0000000,
Fi<mie #0,Y" ¢a;=0. 000,000 ay,...,a, 0000000000. n

7.2 0OOO0OO

gbobovo KOODgoooooo.
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00 72 WO KOOOOOO VOOOOO (subspace) &L wo voooooo, oo

00000000000 o000,ie, WcV,%a,beW,"ae K,a+beW,aa cW.

00 71 KOOOOOO VO22000000 w,wooo,
(Wwnw'Oviooooooooooooo.
(2)wWuw'0oo0oQ0 vVvioooooooooooooo. ooooooo.

000(1)0000000000,000.(2)0,000,V=R2:00000000,, 0,
000000 W,W 000000, ie, W=L(ey) = {z; =0}, W =L(ey) = {z; =0} n

00 7.3 ay,a0,...,a, €V OOOD,0000000000

L(al,ag,...,ar):{Zciai;CiGK(izl,...,r)}

i=1

O00. 00, x € L(a,as,...,a,) PEN Hea}cKsz =YY" ca,. 0000000 VOO
000000 (0000). W =L(ay,as,....,a) 0 {a,as,...,a,} 000000000000
0,000,00000000000, {ai,as,...,e,} 0000000 WOOOOOOO. OO
V =L(a1,as,...,a,) 000, {a1,as,...,a,} 0 VOOOOOOO.

0000 L(ay,...,a,) = (a,a,...,a,) D000000000000

ooooooog W =L(a,as,...,a,) 0000000000000O0O00OO, 000000
gobooo,dbgobgoobgobooobobooboobooboobuooboooDg.

00 7.2 ay,as,....,a, € V OOOOOO, a,as,...,amamy1 € V 0000000,

L(ay,as,...,an) =L(ai,as,...,6m, @mi1).

000000000, anyt O ai,...,an, 00000000000 0000. 00, @nsr €
L(ay,as,...,ay) 000, L(ay,as,...,am,ant1) C L(ay,as,...,ay). 00000, [ ]

00 7.3 ai,ap,...,a, € VOOODOODODOO. Y2 e VOOO, z € L(ay,as,...,a,) O
0, a,...,an,x 000000, 20 ay,...,a, 000000000000000O. 00 x ¢
L(ai,as,...,a,)00,a1,...,a,,x 0000000O0.

0000z € L(ay,as,....,a,) 0000 00000000000000,000 ay,...,an
00000000000000.00 «¢L(a,as,...,a,) 000,00 ay,...,a,,0000
000,20 ai1,...,a, 000000000000,000000. n

00 7.1 (000000) K OOOOOO VOOOOO W = L(ay,as,...,a,) 0000,
bi,....,b, ¢ W (r <m)00000000. 0000 ay,a,...,an, 00, 000 r 000
oood b,...,b, e WOOOOOO, oooo W OoOooOoooooooooo. ooag,
31§z’r+1<---<im§m;VV:L(bl,...,br,airﬂ,...,aim).

00000000000,b;#0(G=1,...,r). 00 r=1000,b; e W OO0,b; =", cia,
0,3;¢; #0. 000, e; =00000000,000000 ;0 b, 0000000000
0O0.00r>20,r—-100000000000,-000000000000. b, €W =
L(by,....by_1,0;,...,a;,) OO0 by = Y"1 ¢;bj + Y4, dea;,. 000D, by,...,b, 000D
00004, 000 100 000000000.0000000000000,d,£000000.
000,0000000000000 e, 06, 00000000000000,00,-0000
oooooo. N
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071 KOOODODODO vVvOoOooog w =L(ay,as,...,an) 0m 000000000000
oooobooooa.

000O0On>mO00by,...,b, e WOOOOOOOO. by,...,b, 00000000,00
0000,W =L(by,...,by,). 000 b, e WOOO,000000000.000,n<m. ™

gobgoooooooon.

072 KOOOOOO VOOODOOO W =L(ay,...,ay)=L(b,...,b,) 0000000,
ay,...,a,, 0by,....,b, 0000000, m=n.

7.3 Uoooo
oo0b0vVvOoO KODOOOooooo.

00 7.4 {ai.as,...,a,} CV O VOOO (basis) &5 ay,as,...,a, € VOOOOOO,
V =L(a,as,...,a,). 00,VO0O000000 20 z=a21a; ++2pa, 00000,

gobgoooooooon.

00 7.2 VOOOOOOOOOOOOO,000000,ie.,{a1,as,...,an}t 0 {b,bs,....by}
0vVOooooOo,m=n.

00 %75 VO nOOOOODOOOOOO,00 nO VOOO (dimension) 000, dimV =
dmgV=n0O00O0O0.00,0000,VO0n00 KOOOODOOOOOO.
dimgV =n PLIN Hay,...,a,}: basis, ie., ai,...,ay,: lin, indep. 00 L(ay,...,a,)=V.
00 000 <= Zay,...,ay,: lin,indep. 00 "2 €V, ¢}z = cia;.

0 7.2 0000000 RC"O000000 {ey,...,e,} 0000000000,n00000.
Mpyun(R) 00000 {E;1<i<m,1<j<n}00000000,mn00.
Rlz]<, O {1,z,22,...,2"} 0000000000 n+100.
000 Rjz] 0000 {1,z,¢2,...} 0000000,00000000000000.

o0 73 vioooooO KOoooooobooo.

(1) 000000000 ay,as,...,a, € VO0OOD0O0DO0O00DO0O0O0O000O0O0O0O0DOO,
{ai,as,...,ar,ar41,...,a,} 0 VOOOOOODO. 0000 0000000000.0

(2) VO nO0O0D0DD00000 n000000 {ay,as,...,a,} 0 VOODODOOO.
(3) WO VOOODODOOO dimW <dimV.
(4 WO VOoOOooO,dmW =dimV 00, W =V.

0000(1) L(ay,as,...,a,) =V 000000000000, L(ay,a,....a,) #V 00
a,y1 € V\L(ay,aq,...,a,) 0000,00 7300, a,as,...,a.,a,4.; J0000000. 0O
ooooooo,voooooooo,ooooooo.

(2)000000DO0OUoOOoooO.

(3)0 (1) 00O000.

(40 (2)00000. n
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74 0OO000OOODOOOODOOODOOOD

n 00000000V O 20000 {a1,as,...,a,},{b1,bs,...,b,} 0000000000
0.01<j<nO00,

Hpj:t(Pljw-wan szgb —szpm b1>---abn)pj

0oo00.000,P=(py)=(py,...,p,) 0000, 000000000000,
(a1,as,...,a,) = (by,bs,...,by)P.

00 POOODO,O00 {by,bs,....b,} 0000 {a1,as,...,a,}) 000000 OO0

00 74 000000 VOOOOOOOODOOOOOOO,0D000000O0000A04.

0000P OO0 {by,bs,...,b,} 0000 {ai,as,...,a,} 000000000, Q 000,
{ai,as,...,a,} 00 {by,bs,...,b,} D0000D0000. 00000000000000, PQ =
EDOO. n

[D0O0000oo0o0]
00 75 0000000 K*O0OOO, a,as,...,a, € K" 000,0000.

(1) {a1,a2,...,a,} 0 K" ODOO.

)

(2) ai,as9,...,a, 00000O.

(3) {a1,aq,...,a,} 0 K" OOOO, ie, K" = L(aj,as,...,a,).
) O

(4) 00O (ai,a2,...,a,) 000.

0000K"0000 n000000000000,(1)00 (3)00000000000000
000000.00000000000000,3P: n00000; (a1,...,a,) = (e1,...,e,)P =
EP=P0O0 (1)00 (4 0000. 00 P = (ay,...,a,) 000000, PP~ = EO
(a1,...,a,)P~' = (e1,...,e,) 0000,000 €0 ay,...,a, 0000000000000
0000.000,K"=L(ay,...,a,). 000 (4)= (3)000000000. n

8 0000 (Linear mappings)
8.1 DOU0OO0O0OO0bLOO0ObOOobOobbOO,b00b00bOoob

00 8.1 U,VO KOOODOOOOOO. OO f:U—V OOOOO (linear mapping) <2
Ya,be U, ce K, fla+b) = f(a) + f(b), f(ca) = cf(a).
00,Vv=U0000,0000 f:U—-U0UD0U0UD000000 (linear transform) O000.

0082 U=U,0 n00 KOOOOOO,V=V,0mO00 KOOOOOOOOO,
{u1,us,...,up},{v1,09,...,v,} 00000000000, 00DDOO, 0000 f:U—V oo

0,{v,}0 VOOOOOODOOOO,01<j<n000,3a; € K;f(u,) Zawvlmmmm

i=1
0000, mxn00 A=(a;;) 000 {u;} 00 {v;} 0000 fO00000O0 (representation

matrix) 00 0.
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goodoooobo,boooboboooooon.
flur,ug, ... uy) = (f(ur), f(u2),. .., f(u,)) = (v1,v2,...,0,)A.
D00 zeU000,%, e Kse=21u1+ 4+ z5u, 00 Z="(21,...,2,) 0000
fl@) =z1f(wr) + -+ flun) = (fwr),..., f(un)Z = (vi,02,...,v,)AZ.
[oo0)

0081 U,VO KOOOODODO, {uy,us,...,up},{v1,vs,...,v,} 0 U,V 00000000
00.0000 f:U—-VOOOOODOO0O0O0O00000 ADOO, ie.,

flug, o un) = (f(wa), f(u2), . fun) = (01, vm) A

000 {u),u,...,u,},{v),vh...,v,}0 U,VOOOOO0O000000,°0000000 P.Q:
0000 n0O,mO0000;

(u),...,u)) = (ug,...,u,)P, (v},...,v),)=(v1,...,v,)Q.

0000,000000000000000 A4, e, f(u),...,u,) = (v,,...,v,)A 0000,
A =Q LAP.

000000, (uw,...,u),)=(uy,...,u,)P00,000000000000000.

Fuhs ) = (F(wh), o fug)) = (f(ua), o fun)) P = flun, ..o un) P,

00, uw, = Y, upm O fO00000, f(u)) = 3, fluj)p 000, 00000000
ooo. oog, f(u),...,ul) = f(u,...,uy)P = (v1,...,v,)AP. 00O, f(u},...,ul) =
(vh,..., v )A = (v1,...,v,)QA". OO0,

(V1. V) AP = (V1,...,0,)QA".
(v} 00000000, AP=QA. 000 QOOO0DD00, A =Q 'APODO. n

0 81 OO0OOOOUOOOOOO fO,0000000000O0O0O0 AO,0D0O0O0DO0OO
PO,00000000000,0000000 000000 PtAPODOO.

82 0LUOOOObDOO

00 83 U,VvO KOOOOOD, f:U—-VOOOOOODO.
O Ker (f) ={x € U; f(z)=0}: f 00O (kernel).
OIm(f)={f(x) e V;eeU}: fOO (image)

00 8.1 Ker(f)O UO0D0D0000,Im(f)0 VOODOOO.

O000ce KOOO. za' € Ker(f) 000, flx+a') = f(@)+ f(a) =0+0 =0
O flex) = cf(x) = 000 xz+a',cvr € Ker(f). 00, y,¢ € Im(f) 000, z,2' €
Uiy = flx)y' = f(@) 00 y+y' = f(x) + f(a) = fl@+ ), cy = cf(x) = flex) O,
z+x' €eUceeU 00 y+vy',cy €Im(f). [ ]
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00 82 mxnOO A=(ay,...,a,) 000, n 000000000 K*"O000 Im(fa) =
L(ay,...,a,).

00000000000000000, @=Ya1,...,2,) € K» 000, fa(x) = z1a1 + -+ +
Tnan, € L(ay,...,a,). 00000 y=a1a1+ -+ 2z4a, € L(ay,...,a,) 000,22 00000
00000, y= fa(z) eIm(fa). [ |

00 82 (000O0) v,vO KOODOOOO, f:U—-VvVOOoOooooo.

dim Ker (f) + dimIm (f) = dim U.

O00O0OKer(f)0OOOOO,0000000000000000.00,U=0,0n0000
0, {a1,...,a,} CKer(f) cUD Ker(f)000000. 000000000,000 by,..., b,
0ooo, {a,....,anbi,....b,,} 0 UDOODOODO. OO, {fb1),..., f(be_r)} O Im(f)
D00000000000. 00,00 e f(b)+-+cnrf(bpr) =00000, flerby +---+
Crrbyn—r) = 0000, c1by + -+ + Cppby_y € Ker (f) OO0 3{d;};c1b1 + -+ + Cpybp_p =
diay+-+dea, 0000. 000, ay,...,ap,b1,...,b,_, 00000000 ¢;=d; =000
O.000 f(b),...,f(by_,) 00000. 000 "yelm(f),zcU;y=flx). 000, =
ria1+- 4+ Tra +Trp1b1+ - +xyb, . 0000000,y = f(x) =z41f(b1)+ - +20f(br_y)
000, f(by),...,f(bo_y) 0 Im(f) 00O0DOD. n

83 ULUUUOUObODbOOOO

00 84 U,VO KOOOOOOOOO. f:U—VOOOOO (isomorphism) <% f00

000000D0.0000000,U0 VOOO (isomorphic) D00DO0OO.

0 81 f:R" = R[z]< 0 a=Yag,ai,...,a,) eR" 0000, fla) =ap+arx+---+a,z"
obooboooboobooboo.

00 81 n000 AODD,K"000000 f4000 < A000OOODOOOOCODO.

000ADOOO0O0O0O0DOO, f00000000000000000000.00, f400
000,000 f;'00000.0000000000 BOOOO, filofa=id00,BA=FE
0D00.000 ADOO.O0 AOODOOO, f, 0 f, 000000000 f,000. =

00 83 0000 f:U—VOOO < Ker(f)={0}.

DOO00f(x) = fly) > 0= f(x)—fly) = flx—y) 000000, fOO0 &L

[flx)=fly)=z=y] <= [flx-y)=0=z-y=0] < [f(x)=0=z =0 —
Ker (f) = {0}. [ |
00 8.4 000,00 KODODOODOO K*~OOO.

0000V 0000 ay,...,a, 000, & ="Yzy,...,2,) € K" 000, f(z) =" zia; O
0oooo, f:K"—VO0000000000,000 ay,...,a, 00000000 f(z) =0
= x=000,Ker(f)={0} 000, f000.00000000000000000,000

og. [ ]
obooooog
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00 85 f:U—=V0O0D00O = dimU = dimKer (f) + dimIm (f).
00 f: 00 < Ker(f)={0} < dimU = dimIm(f).
o0 f: 00 = dimU =dimV.

8.4 ULUUUbObLDOOOOO

00 85 0000 f:U—V OO0, rank(f) =dimIm(f) 0 f0000000 (rank) 00
0.00 mxnOO AOO0O,rank(A)=rank(f4,) 0 ADDOOOOO (rank)O000.

00 86 mxnUOO ADn.00000 PmOOOOO Q OO0, rank(QAP) =rank (A).

0000Im(foap) O Im(f4)00000000000000. fa, foap : K™ — K™ OO fg on
Krooooooo. Ve e K?, fo(fa(x)) = QAz = QAP(P~'z) = foap(P 'z). P7lz € K®
DDDDD,VnyA(:B) GIm(fA),fQ(y) GIm(fQAp), ie., fQ(Im(fA)) CIm(fQAp) goo.
000 g= folm(sa) : Im(fa) > Im(foup) 00000000000000.00Q 00000
0, fo000,00,00.000,9000.00 VzeIm(fgap), y€ K™ 2= foar(y) 00,
x=Pyd000,000000, fo(fa(®)) = foar(y) OO, 2= foar(y) € Im(g) DODO
0.000,¢000.0000 ¢g0000,ie,00000. [ ]

00 8.7 ODOUOOOOOOOOOO,DO000DOOOOD.

000000000000,000000,0000000000000000000,000, 0

0000000000000.000000000,A000000000, (ey,...,e,0,...,0)

00000000 »000000,00,0000,A40 (ey,...,e,0,...,0) 000000, 0

0000000 r 00000000000, 0000 Im(f4) = L(ey,...,e,) 000 (— O),

dimIm (f4)=r000,000000. n
00 A= (e1,...,e,0,...,0) 00 Im(fa) =L(ey,...,e,) 00000000,

00 88 U0 A0OUDUUOUDOOOO,U00 BOUOOOOO, rank(A) =rank(B).
00 82 mxnOO ADOO, rank(A) <mAn=min{m,n} 00O0.

000f4: K* — K™ O, rank(A) = dimIm (f4) < dimK™ = m. 00000000
dimIm (f4) = dim K" — dimKer (f4) > dim K™ = n. [ |

mxnO0O0 AODOODO,000 r000000DOCOOO,000000000000A40 r0O
ogoooobooo.

00 89 mxnO0 ADDD, r(A)=max{r;A0 r 000000 £0}000.0000,
(1) n(A)000,0000000000. (2) r(A) = rank (A).

000o0()UoooooOooO0ooO0oo0 (D000). D000000o00o0oUo00O. 00,00
00 cA40000000,00000,0000000 ecOOOQOO,000o00O0O0OOOO
oooobooooooob. obo,0o0co0b00bo0oo0ocob,10o0b00booooobooobo,2d
ooo0o,0g0goooogo0,-1og0ooooo0ooooobo. b0 A0 00 cOoOO 40O
ooo,A 0000000000, A/000000,0 j0000000000,00000,0
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jO0000D000D0,000000 AD,D0 0000000000000 ADODODOOO
00 A'0c00,0000 A+eA’000.00000000000,A#00rA’£0000
(00 000000000O00O0O0OOO0OO). 000 A’£4A0000,(000000O0)000 A0
0000000 410000000000, (00,000 jO00,00 AOD+0000000,0
000 AQ 4,j00000000.) D000 ~(A)<r(A) 00000 (OO0, r(A) 00 A' D
00000 o0000OOO0O0UO0O,00 r(4AH 00 ADDOOOCODOOODOUODOOOOO
O00000). 000 A 0000000000 AODODO0OOooo, AA000o0o0ooooao,
r(A) <r(A)00O0,00 r(A)=r(4)000.

(2)00 A= (e1,...,€-,0,...,0) 000, rank(A)=r0,000000 (A =r. 0000
O0000o00oo,000000,rank(A)0 r(A)DODO0O0O0ODOOOOOOOO,00,000
gug. |

082 00000 AO0O0O, rank (*A) = rank (A).

doo0oooOoOoooo0oO0ooOo0oUoo,0000 r(A)Doooooooo. |

9 O0O0O0OD0OO0O0O (Simultaneous equations)

9.1 Ougoobboboooobobbobouoobbbodao

mxnO000 A= (a;) 0 m 00000 b="b,..,b,) 000,n00000000
x="%r,...,7,) 000000000000 Az=b0000,b=0000,ie, Az=000
oboooooobooo.

fa: K" — K™ fa(x) =Ax 00000, Ker (fa) = {x; fa(x) =0} ={x; Az =0} 00O, O
00000000000 Az=00000 U0O0O. OO0 Ker(fa) OOO {e1,...,es} 0000
goog.

00 9.1 000000000 Az=0000 =000 <= rank(4)=n.
0000000000 dimKer (fa) =n—dimIm(fa) =n—rank(A) 000, 000. [ |
b#A0000,4Az=0b600000 « 0000000.

00 9.2 Az=5000,00000,000 ;0 Az=000 o000, z=x9+x, 00
ooog.

0000000000 20000, Az =b0, Ax; =b0000, A(zy —x;)=0000,
w(J:iL‘Q—J,‘lDDDDDD. |

000000 Az=0000 0000000, Az=b000,2,00000. 000000
og.

091 Az=5b6000000000,000000 <= rank(4)=n.

00 9.3 0000000 Az=b00000 < rank(A) = rank (A|b).
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ggboobodbooboboobuooboooobuooubobooobobobooo
ooooooooooog. A = (a,...,a,) 0000, rank(4) = dimL((a1,...,a,),
rank (A|b) = dimL((a1,...,a,,b). 00 Az =b 00 = =Yzy,...,2,) 0000, b=> x;a;
0o, L(ai,...,an,b) = L(ay,...,a,), ie., rank(A4|b) = rank(A). 000000000
0, b ¢ Li(ay,...,a,) D00, D000, a1,...,a,,b 0000000000, rank(A4) =
dimL((aq,...,a,) <dimL((a4,...,a,,b) = rank (A|b). [ |

9.2 JUoooooo
00 94 n000 ADDODO,00000 Az=b000000000 < ADDODO.

0000AO0OO00 < rank(A)=n000,00000000,00000 rank(4A)=n0,
ADDO0. 00 ADDOOO,Az=b0000 A-'00000,2=A"'00000000
0. n

00 9.5 (00000000 (Cramer’s formula)) n 000 A= (ay,...,a,) 000000,
00000 Az=b00 z="%=,...,2,) 00000000.

= det(a1,...,ai,l,b,ai+17...,an)
P =

det(ay,...,an)

D000z =A"'b=Ab/(detA) O, AD (i,k) 000 A(A)p = (—1)it*Fdet A,; 0O OO0
0,Ab 00 00 Yp_ (Abr = Xr_, A(A)piby, O ¢; = det(ay,...,ai1,b,a;11,...,a,) 0
00000000000.000,0000 0000000000000, ¢;=37_; bkA(A)k
000,00000000000. n

00 9.1 |¢/>1000,0000000000.

x1+cro+---+cxr, =1
cr1+xo+ - +cr, =1

cr1+cro+---+x, =1

000000000 ADOOOOOOO0OO0000000, detA = {1+ (n—1)c}(1—c)" "
>100 ADDOD.000,000000000. 0000 ¢;000000000000,0
0000000000000000000000. 0000,000000000,4;=2z000
0,{1+(n—1)clz=n000,00,z,=2=1/{1+(n—1)¢}000.00,00000000
0Oo000,000

1 ¢ c
1 1 1 --- ¢
xr1 =
{1+ (n—1cp(1—on1 :
1 c 1
a,
1 ¢ c 1 c
1 1 c 0 1—¢
| = (1o
1 ¢ 1 0 0 1—c¢



000,z =2=1/{1+(n—1)¢}. 000000000, ]

[Dooooooooo]
mxn00 ADOODOO A~ 00,AA A=AD0000 nxmO0D0000.

00 9.6 mxnO0O AD0OD,00000 Az=5000000000,0000 «=A"b+(E,—A A,
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